

547

$$\textcircled{211} \quad a) \quad \overset{3,}{\frac{1}{6}} + \overset{3,}{\frac{1}{2}} = \frac{1}{6} + \frac{3}{6} = \frac{4}{6} \overset{12}{=} \frac{2}{3}$$

$$b) \quad \overset{5,}{\frac{1}{3}} + \overset{3,}{\frac{2}{5}} = \frac{5}{15} + \frac{6}{15} = \frac{11}{15}$$

$$c) \quad \overset{2,}{\frac{3}{4}} + \frac{5}{8} = \frac{6}{8} + \frac{5}{8} = \frac{11}{8} = 1 \frac{3}{8}$$

$$d) \quad \overset{5,}{\frac{1}{2}} + \overset{2,}{\frac{2}{5}} = \frac{5}{10} + \frac{4}{10} = \frac{9}{10}$$

$$\textcircled{212} \quad a) \quad \frac{3}{4} - \overset{2,}{\frac{1}{2}} = \frac{3}{4} - \frac{2}{4} = \frac{1}{4}$$

$$b) \quad \overset{6,}{\frac{1}{2}} - \overset{2,}{\frac{1}{6}} = \frac{6}{12} - \frac{2}{12} = \frac{4}{12} \overset{12}{=} \frac{1}{3}$$

$$c) \quad \overset{5,}{\frac{2}{3}} - \overset{3,}{\frac{3}{5}} = \frac{10}{15} - \frac{9}{15} = \frac{1}{15}$$

$$d) \quad \overset{2,}{\frac{5}{6}} - \overset{3,}{\frac{1}{4}} = \frac{10}{12} - \frac{3}{12} = \frac{7}{12}$$

$$\textcircled{213} \quad a) \quad \frac{4}{5} + 1 \frac{1}{4} = \overset{4,}{\frac{4}{5}} + \overset{5,}{\frac{5}{4}} = \frac{16}{20} + \frac{25}{20} = \frac{41}{20}$$

$$= 2 \frac{1}{20}$$

$$b) \quad \overset{2)}{\frac{7}{8}} - \overset{3)}{\frac{5}{12}} = \frac{21}{24} - \frac{10}{24} = \frac{11}{24}$$

$$c) \quad \overset{4)}{\frac{3}{6}} + \overset{3)}{\frac{3}{8}} = \frac{12}{24} + \frac{9}{24} = \frac{21}{24} \overset{13)}{=} \frac{7}{8}$$

$$d) \quad \overset{2)}{\frac{5}{6}} + \overset{3)}{\frac{3}{4}} = \frac{10}{12} + \frac{9}{12} = \frac{19}{12} = 1 \frac{7}{12}$$

(214)

$$a) \quad 1 \frac{1}{2} + \frac{2}{5} = \overset{5)}{\frac{3}{2}} + \overset{2)}{\frac{2}{5}} = \frac{15}{10} + \frac{4}{10} = \frac{19}{10} = 1 \frac{9}{10}$$

$$b) \quad 1 \frac{5}{8} + 2 \frac{1}{3} = \overset{3)}{\frac{13}{8}} + \overset{8)}{\frac{7}{3}} = \frac{39}{24} + \frac{56}{24} = \frac{95}{24} = 3 \frac{23}{24}$$

$$c) \quad 3 \frac{2}{3} - \frac{5}{6} = \overset{2)}{\frac{11}{3}} - \frac{5}{6} = \frac{22}{6} - \frac{5}{6} = \frac{17}{6} = 2 \frac{5}{6}$$

$$d) \quad 2 \frac{2}{7} - 1 \frac{2}{3} = \overset{3)}{\frac{16}{7}} - \overset{7)}{\frac{5}{3}} = \frac{48}{21} - \frac{35}{21} = \frac{13}{21}$$